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Area of trapezium = %(a + b)h

Volume of prism = area of cross-section x length

(0185-11)
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1. (a) (1) Write down, in words, the number 35 276.

(i) Write down, in figures, the number sixteen thousand three hundred and forty.

O L5 5.

(b) Using the following list of numbers
28 16 64 52 43 62 42 8
write down

(1) two numbers that add up to 90,

(i) the number that is the difference between 67 and 24,

(iti) a multiple of 6,

Y e ——

(iv) the answer when 40 is divided by 5,

(v) the square of 8.

(5]

(¢) Write down a factor of 24 which is between 7 and 11.

L T

(d) Write 7682

(i) correct to the nearest 10,

J6¥o0

(ii) correct to the nearest 1000.
%’ O
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2.  Write down the metric unit that is best used to measure
N

the weight of ten sheets of paper,

the volume of teainacup, Mo
the height of a building, @ ...

the area of the ceiling in a classroom. ...

3. (a) Complete the following shape so that it is symmetrical about the line 4B.

{0185-11)
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(b) Draw all the lines of symmetry on each of the following diagrams.

3]
@ ¢

(i)

/

4. A box contains the following 8 cards which are identical except for the numbers written on
them.

1 2 2 4 4 4 4 4

One card is chosen at random from the box.
On the probability scale shown below, mark the points A, B and C where:

)

2. &
A is the probability that the chosen card has the number 2 on it. T ’L-;
B is the probability that the chosen card has the number 4 on it. %,

C 1s the probability that the chosen card has a number less than 5 on it.

I
1
? [3]
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5. The chart shows the number of hours of sunshine recorded in Cardiff and Bangor on five

days.

Hours of
sunshine

Cardiff

(a)

(b)

Mc?day Tueaday

On which day did Cardiff and Bangor have the same number of hours of sunshine?

On how many days was the number of hours of sunshine in Bangor less than 8?

Wednesday
"4

Thursday
v

Friday

Y

(1]

e SoMa R

(c)

(d)

(0185-11)

On how many days was there more hours of sunshine in Cardiff than in Bangor?

What was the total number of hours of sunshine in Bangor over the 5 days?

B B ST I i T 1Y

What is the median number of hours of sunshine in Cardiff over the 5 days?

[1]
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6. (a) Calculate 124 x 36.

(b) Calculate

Q) % of 40,

g
() 6% of 400.

................................ A s
N S
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7. (a)

{VIKS-11)

Measure the length of DE.

Name the line which is parallel to CD.

Name the line which is perpendicular to AC.

S .
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(b) Circle the special name which describes the angle marked x.

X

acute angle obtuse angle right angle @
[1]

(¢) By shading four squares, complete the shaded pattern below so that AB is a line of
symmetry.
(2]

0185
Hooge
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8.

(0185-11)

10

The diagram shows a sketch of a triangular prism.

4cm

10cm
6cm

Draw an accurate net of the triangular prism.
Two faces have been drawn for you.
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9. A rectangle is formed using 6 identical square tiles.
The length of each square tile is xcm.

«~——xm —&— —9 & KX —

length

(a) Write down, in terms of x,

(i) the length of the rectangle,

width

(i1) the width of the rectangle.

(b) The length of the rectangle is 15cm.
What is the value of x?

{MRS-11)
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10. Draw a parallelogram which has sides of 10c¢m and 7c¢m and an angle of 55°.

7 ) _

(0 ¢m
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11. (a) Using only the numbers in the range 25 to 35,

(1) write down a cube number,

(b) Find the value of

] =2, 5

() 7-5-4-27,

(0185-11)
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12.

14

The travel graph below represents Clive’s car journey.

(a) How far from Aber was Clive when he started out?

How far did he travel in the first hour?

(b)

L e T B

(¢) For how many minutes did he stop on his journey?

w

(d) At what time did he arrive in Aber?

Distance (in miles)
from Aber

A

60

50

HE T

40

o SESS s

301

o /
o e

HEE
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» Time
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13. Bars of chocolate are only sold in boxes of 8 or in boxes of 5.

(a) Gary wants to buy exactly 21 bars of chocolate.
Show how this can be done.

(b) Fiona buys fewer than 15 bars of chocolate.
List all the possible ways she could have done this.

............ 1o 0l A x¥zf AxfE elxy 13

(c) Show that it is impossible to buy exactly 17 bars of chocolate.

P50 2.2 -8 Y - B .. 54" S

§°f\0(:o~bmfx\’w*3}5’ém°5’/ym
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14. The assessment for an examination consists of two parts, namely, coursework marked out of
80 and a written paper marked out of 100. The marks for six pupils are given in the table.

Coursework mark 24 70 14 35 62 42

Written paper mark 32 93 9 38 72 56

(a) On the graph paper below, draw a scatter diagram to display these results.

(2]
Written paper
mark
i
100 )1‘/
i | i i | |
80—+ |  Gamum |
5 ' T
L e 42 Wil I N
I | / |
601 — —1- e
ot A B S L | (f;_,k 7,|,, }\, s =
40 ; 7 S W I | i {
ES REREAEP% LR
20 4+t ' l |
|
’L)]\ _g%_ i ;WI
!
0 P | : H , Coursework
0_ =, 20 40 60 80 100  mark
g 1
(b) What type of correlation does your scatter diagram show?
___________________________________________ o
[1]
(c¢) Draw, by eye, a line of best fit on your scatter diagram. [1]

(d) Another pupil completed the coursework and was given a mark of 56, but was absent
from the written paper examination. Use your line of best fit to estimate the mark on
the written paper for this pupil.

(0185-11)

Examiner
only



17

15. This stairway is made with 6 cubes. It has 3 steps.

-

-

How many cubes would be needed to make a similar stairway with 9 steps?

16. A farmer grows 336kg of potatoes.
He sells them in 5kg and 2kg bags.
He uses the same number of 5kg bags as 2kg bags.
How many bags does he need altogether?

Lxa e F[3F
3
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17. The management of a health club intend to carry out a survey of their customers in order to

find out their opinion on the alterations that have been made to the club.

(a) One of the questions in their questionnaire was

What do you think of the fantastic new improvements?
Jrm———

What do you see wrong with this question?

.LJ( 1y o bfo‘%d l)%%f,um.

(b) Another of their questions was

How often do you come into the club?

Very often Often

Occasionally

(i) What do you see wrong with this question?

(1) Write a better version of the question.

J2wbbmcorad [ Jonws ek [ ]

10185-11)
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18. (a) One Monday morning a bug fell down a hole 55cm deep. The bug immediately tries to
climb out of the hole.
The bug climbs i— of a metre during the day, but every night it slides down % of a metre.

On what day will the bug get out of the hole?
You must show your working.

L ¥

Mody 05271 07ed % DT p bl
Tooo BNIISE 5y 11T 41T o 25cn o bele
Weds | HTRILTN Ge 2T 10T o FHTem o

Thn 3 7)1 0T 3

ZE I VT o

(b) Write down the nth term of the sequence 3, 11, 19, 27, 35, ...

(2]
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20
19. Find and shade the region of points inside triangle ABC that satisfy both of the following
conditions.
(i) The points are nearer to AC than to 4B.

(if) The points are greater than 5cm from A4.

2. (a) Simplify ;—z . QY )it J%__X_/ﬁ/j___ = Y 6

(1]

(b) Solve 8x+17= @9).

N 21 .
. L
5 [3]
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